) The odorant added to LPG to identify the |eakage 8-

96

A) Chlorine

B) Ammonia

C) pimethyl sulfide
D) Ethyl mercaptan

m— SIS

97) Amamath pilgrims have to go throu>g_rrv7|dch of the
following passes 10 reach the shrine of Shri Amarnathii?

A) Banihal pass ’

B) Mahagunas pass
C) Zojila pass

D) Baralacha La pass

ong the following players scripted hlstt:;vy b|\é
r

e first Indian to win the Badminton WO
) World Tour Finals in 20197

98) Who am
becoming th
Federation (BWF

A) Saina Nehwal
B) P.V. Sindhu

C) Srikanth Kidambi
D) Parupall Kashyap a a

e =
g9) Water pollution occurs when harmful substances like

microorganisms contaminate a water body degrading the
ty and rendering it toxic to humans or

water quali
environment. Which one of the following diseases is NO

due to contamination of water?

A) Hepatitis E
B) Chickenpox
C) Filariasis
D) Amoebiasis

100) The capital city of which of the following states is

located in the Chotanagpur Plateau?

A) Andhra Pradesh
B) Jharkhand

C) Haryana

D) Uttar Pradesh




66 ¢
S ——

84) Dandiya, a popular folk 48N form originated in which
of the following states of Indif

A) Gujarat .
H) Hnrynn,.
C) Punjab
D) Assam

Ie5) As of September 'Q”Jéb"]ﬂ;_pehnco Secretary of India
- .

A) Ajay Kumar

B) Sanjay Mitra

C) Shashi Kant Sharma
D) Vijay Singh

86) The Indus Water Treaty between India and Pakistan,
brokered by the World Bank was signed in 1960. The
treaty was signed by India’s Prime Minister Jawaharlal
Nehru and Pakistan's President

A) Farooq Leghari

B) Fazal llahi Chaudhry
C) Mohammad Ayub Khan
D) Iskandar Mirza

87) The Surajkund Mela which showcases the richness
and diversity of the handicrafts, handiooms and cultural
fabric of India is organised by which state every year?

A) Rajasthan

B) Haryana

C) Punjab

D) Himachal Pradesh

88) Who among the following emperors of the Gupta
dynasty earned the title Vikramaditya?

A) Samudragupta
B) Chandragupta Il
C) Kumaragupta |
D) Narasimhagupta

89) Which of the following liquid insecticide is used for
Malaria vector control as per WHO guidelines?

A) Sodium chloride

B) Sodium bicarbonate
C) DDT

D) Acetic acid

)
2 \w

/

MA) is situated in the “

iitary Academy (Mg qdia?

M
g0) The f"‘:ff:fc';, of the following stat
capital ©

Maharagh“a .

B Jharkhand . "

c) uttar prades ’,

D) Uttafakhand — '

o |c-h“c;f> (F,;f_c;llowing sarees were first produced m‘l
91) Wyh prad65h7

S\ D oO™ >

-
Q

<
D
=Y
=
o
— Tt

hani sarees

Pait
A) m sarees

B) Kanchipura
C) Maheshwarl sarees
D) Bandhani sarees

ot is the unit used to measure the quantity of ozone

g2/ the atmosphere?

content in

A) Einstein unit
B) Poise

C) Dobson unit
D) Becquerel

- ——
nce form of which of the

93) Kuchu;;t:udu is the c_lassica| da
following states of India?

A) Karnataka

B) Kerala
C)Maharashtra

p) Andhra Pradesh

94) Which of the following combinations of fabric and its
originating state is matched CORRECTLY?

A) Muga - Uttar Pradesh

B) Pochampally - Kerala

C) Chanderi - Madhya Pradesh
D) Muslin - Odisha

95) Which of the following cricket teams won the 2019-20
Ranji Trophy?

A) Mumbai
B) Rajasthan
C) Vidarbha
D) Saurashtra

Page 12 of 16
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tarkanika wildlife Sanc

ation sjte for:

: criptions
roka are a collection °f,§:t scripts.
s of Aswalls written using diffe ript used in
1He E"":; ;Ieuowi”g options is NOT a sc
ﬂ’ p"a 'he 0!
"0 ool ! 7
1 s
! e
o’
proh™

8 Khmoﬂ"'hi

: of
of medicine which deals with the study

- "'”M';B[em and its disorders jg:

3) 1ive )

e digeS

) Elad“’myy

] 'nwmdog .
P ;mwnmrology .
/)

) Ggmalogy

P oy . .
juraho temples dedicateq to the Hinduism and
1\ The Kha
4)The

o built by the rulerg of which of the following
i1l wer
3::2!»957

| Rashtrakuta dynasty
ty
GUmB dynas
; Satavahana dynasty
) Chandela dynasty

e e—— '. "“»*"M
5 Chhatrapati Shivaji Maharaj founded ' and
s)smmted the Maratha Emprq in 1674 with which of the
lowing places as its capita|?

) Vitamin A~
) Vitamin p
) Vitamin
) Vitamin g

) The process-»t;]rough which the Physica) state of
attor thangeg from the 9aseous phagg
850 jg Called:

into the liquid

) Oridatio,
EVabf)ration
ublimatlon
«ondensatlon .

(

78) Bp
00nserv

A) King cobra

B) Biye footed booby
) Saltwater crocodile

D) Indian elephant

tuary in odisha is s

Ml

ollowing regions is one of the Promineng
ICa reserveg of India?

A) Hazaribagn plateau

B) Bastar plateay
C) Aravalij range
D) Nicobar islands

80) Whioh cr o i reS?fVes\\
80) Which of the following wildlife

e home of the
the city of Srinagar?

Hangul, or Kashmir sta

best known as
g is locateq Near

A) Dachigam National Park
B) Nandinj Wildlife Sanctuary

C) Overa Aru
D)Ra

Wildlife Sanctuary
Mnagar National Park

81) Who

won the FIFA World Cupm
20182

A) Denis Cheryshey
5) Harry Kane

C) Cristiano Ronaldo
D) Romely Lukaku

Jammy region
Indian Constity

A) Bodo
B) Gojri

C) Dogri
D) Sindhi

e followin
is includ
tion?

ed in the Eighth

g Ianguages mainly SPoken in the

Schedule of the

83) As of September 2020, wi
Vice Chairperson of Nj| Aa

A) Raijiv Kumar

B) Bibek Debroy
C)Vv.K Saraswat

D) Arving Panagariy,

TI

ho among the following is the
yog?

77
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Secti .
tion 4 - Genera| Awareness and Sciencé

61 i i
) The Jamia Masjid of Srinagar, a fine example of |
Ndo-

S i ;
aracenic architecture was construct

Patronage of: ed under the

A) Sultan Haijji Khan

B) Jahangir

C) Sultan Sikandar Butshikan
D) Aurangzeb

62) A traditional dress, worn during winter ang a popul
Opular

form of dressing amongst both
men i
Kashmir region is: and women in the

A) Pheran
B) Taranga
C) Angarkha
D) Mushaik

63) In February 2020, Asia's lar i

: . , gest biotechnol
lrfe-scaenqes summit BioAsia 2020, was held in \?v?\)i,cr?n?‘
the following cities of India? °

A) Hyderabad
B) Bangalore
C) Vijayawada
D) Chennai

64) Match the following Sports person with the Sports they
played:

[Sports person )Spons they played
A. Major Dhyan Chand|1. Chess -~

B. Mary Kom 2. Cricket

C. Sachin Tendulkar |3. Hockey

D. Viswanathan Anand|4. Baxing

A) A-3, B-2, C-1, D4 o~
B) A-3, B4, C-1,D-2+
A-3, B4, C-2, D-1

D) A-1, B4, C-2, D-3

65) The capital city of Rajasthan famous for its
architecture and rich culture is:

A) Jaipur /
B) Jhalawar
C) Jaisalmer
D) Jodhpur

the mobile app launched by the GOVBrnmem

|dentify
2fl)ndia for tracking COVID 19,

A) PharmEasy

_B) Aarogya Setu
= ¢) Covid Monitor App

p) Corona Kavach

67) Nine degree channel separates which of the followlng
group of islands?

A) Andaman and Nicobar
B) Laccadives and Minicoy
C) Great Andaman and Little Andaman

D) Daman and Diu

68) Bleeding of gums and delayed healing of wounds is
caused due to the deficiency of which of the following

vitamins?

A) Vitamin A
B) Vitamin B
C) Vitamin C
D) Vitamin D

69) Who among the following won the 2020 Australian
Open Tennis tournament in the Women's category?

A) Simona Halep

B) Sofia Kenin
€)€aroline Wozniacki
D):Naomi Osaka

70) Which of the following Indian leaders was fatally
injured by a British Sergeant while protesting against the

Simon Commission?

_A) Lala Lajpat Rai

B) Bhagat Singh
C) Sukhdev Thapar
D) Khudiram Bose

71) Indira Gandhi Memorial Tulip Garden dubbed as
Asia's largest tulip garden is situated on the foothills of the
Zabarwan mountain range on the banks of

~A) Wular lake

B) Nigeen lake
C) Dal lake

D) Mansabal lake _/,

Page 10 of 16
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T.H. Huxley reasoned that flying vertebrates must haye
been warm-blooded because flying implies a high rate of
metabolism, which in turn implies a high  interng)
temperature. Huxley speculated that a coat of hair woy|q
insulate against loss of body heat and might streamline
the body to reduce drag inflight. The recent discovery of 5
pterosaur specimen covered in long, dense, and relatively
thick hair like fossil material was the first clear evidence
that his reasoning was correct. Some palaeontologists are
of the opinion that the pterosaurs jumped from trees or
perhaps rose into the Jight winds from the crests of waves
to become airborne. Each theory has its associated

difficulties. The first makes a wrong assumption that the
ould serve as

pterosaurs hind feet resembled a bat's and ¢
hooks by which the animal could hang in Preparation for
flight. The second hypothesis seems unlikely because
large pterosaurs could not have landed in trees without
damaging their wings. The third calls for high aces to
channel updrafts. The pterosaurs would have been unable
to control their flight once airborne as the wind from which
such waves arose would have been too strong.

48) As seen in the passage scientists generally agree that:

A) The pterosaurs could fly over large distances because

of their large wingspan.
B) A close evolutionary relationship can be: seen
between the pterosaurs and bats, when the structure
of their skeletons is studied.
C) The study of the fossilized remains of the pterosaurs
reveals how they solved the problem associated with

powered flight.
D) The pterosaurs were reptiles.

49) From the viewpoint of T.H. Huxley, as given in the
passage, which of the following statements is he most

likely to agree with?

A) An animal can master complex behaviors irrespective
of the size of its brain.

B) Environmental capabilities and physical capabilities
often influence the appearance of an animal.

C) Usually animals in a particular family group do not
change their appearance dramatically over a period
of time.

D) The origin of flight in vertebrates was an accidental
development rather than the
specialization or adaption,

outcome of

to the passage which of the follov/mg i'a

50) Accord"lgo, the pterosaurs?

characteristi t eir i
A) The pterosaurs were not able to fold their wings Whe,

not in use:
B) Like the pats, they hung upside down from branch,‘,

C) They flew in order to capture prey.
They can be said to be an earlier stage in the

o evolution of the birds.

51) As inferred from the passage, the skeleton of;
pterosaur is distinguishable from that of a bird by the

A) Length of its wingspan
B) Hollow spaces in its bones

C) Anatomic origin of its wing strut
D) Evidence of the hooklike projections on its hind feet

52) The view that, the pterosaurs rose into light winds from

the crest of the waves to become airborne, is viewed by

the author as

A) Revolutionary

B) Unlikely

C) Unassailable

D) Probable

53) Fill in the blanks with the correct option. o
pictures

Jane wanted camera to take
of hendriends on Graduation Day, but now she doesn't

need.it.
A) A, much?
B) An, many #-
C) A, few

D) A, some

54) Fill in the blanks with the correct preposition:

the ticket counter the park.

Page 8 of 16
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liolsed word:
46) Idantity the synonym of the 11CSec word:

The human ear leta In a very limited range of frequencies.

A) Allows ¢

B) Looks Into
G) Glves up
D) Disragards

oo e,

“ = - - ) ; o ‘
47) Fil n the blanks with the correct option:

The film in New York next week.
A) open

B) opened

C) opens -

D) opening

; e
Direction for Questions (48-52):

Read the following passage and answer the questions
gliven.

For a perlod of more than two centuries palaeontologists
have been Intrigued by the fossﬂlzed' remains of
pterosallfl, the fifét flying vertebrates. The issues, which
puzzienthermyare howsthese heavy creatures; having a
wingspan of about 8-12" meters man_aged the various
prablerms assoclated with powered flight and whether
those creaturas were reptiles or birds. Perhaps the least

7 Booliun J - Basie Engligh
ot WAL gt sty e fl e
e
i
i i
[ N I Lyalige 1o
e
G il
uM'“""“
gy e
mtl\ﬂ\'
R
e
i |.|nn|l with the Oeel option
a,.,rmln“‘ !
ool Of NeW scheme outwelghs e
“\phﬂm"
un;\l“"'“
A A‘""‘k
mlhl’.l“
) e, e
! NoAie o
e DArke will the oot option;
fiele al regular Intervals,
(o
A) jeare
if) .moanllllu
y)mwm
()l appearing

44) il the blanke with the correot option:

| vty lidng to do __8ame Job day after day.

A No Attiole
[)an

()a

0) he

l‘fal (hoose the ward that s spell correctly and fill the
kg

Makd  |s Important for good health.

Noxareisg
/ 0 ofolan

U mncargye
Dotrylug

T ——

controverslal assertion about the pterosaurs is that they
were reptiles. Thelr skulls, pelvises, and hind feet are
reptillan. The anatomy of their wings suggests that they
did not evolve into the class of birds. In pterosaurs a
greatly elongated fourth finger of each forelimb supported
a wing ke membrane. The other fingers were short and
reptilian, with sharp claws. In birds the second finger is the
principal strut of the wing, which consists primarily of
feathers. If the pterosaurs walked on all fours, the three
short fingers may have been employed for grasping.
When a pterosaur walked or remained stationary, the
fourth finger, and with it the wing, could only turn upward
in an extended inverted V- shape along each side of the
animal's body. In resemblance they were extremely like
both birds and bats, about their overall body structure and
proportion. This is hardly surprising as the design of any
flying vertebrate is subject to aerodynamic constraints.
Both the pterosaurs and the birds have hollow bones, a
feature that represents a saving in weight. There is a
difference, which is that the bones of the birds are more
massively reinforced by internal struts. Although scales

tYP'fa"V cover reptiles, the pterosaurs probably had hairy
coats.

et of TR
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! (O ( d flower.

'is calleq orange', 'orange’ I8 c'alle' sl

0 '“‘.“"g.’.ed sjellyfish', ‘jellyfish' is called @l and 'tall
'ﬂoweg(;s.painting'. then what is 'Rose'?

i cal

) Mens®
B) Jelyfish
0) orange

f'-’ﬁ';altematlve that will make the second pair
31) Se|e:s 1o the first pair given as:
log0

—
B

A) Airport
B) Terracé
_g)Field
‘ D) House

or the code represented below, what is the coded

32) ASP% | OWLEDGE?

string for KN

p) fimhkQXQ
B) rimhoQoxQ”"

C) rfmhbQoxQ
D) rffmmcQoxQ

33) In a certain code language, ‘hot filtered coffee’ is
coded as 123, ‘very hot day' is coded as ‘356" and ‘day
and night is coded as ‘589'. What is the code for ‘very'?

A)3
B)5
)9
D) 6

34) Suresh is facing towards East in his classroom. His
teacher ties a black cloth around his eyes and asks him to
spin clockwise 3 and a half times. Suresh is then asked to
spin 4 and a quarter tumns clockwise again. Again, he is
asked to spin for another 1 and a half turns anti-clockwise.

In which direction will Suresh face finally?

A) South
B) North
C) East
D) West

35a) Selact the alternative that will replace the question
In the analogy

Composite : 100 :: Prime : ?
A9

B) 12

C)23

D) 39

36) In this question, out of the four figures, three are

ﬁ'i(mua, In a certain manner. However, one figure is NOT
@ the other three,

Select the figure which is different from the rest.

37) X is the brother of Y and son of Z. Z is the husband of
W, son of M and brother of S. Based on the information
given, who is the daughter-in-law in the group?

A) X
B)S
C)W
D)M

Page 5 of 16
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Section 2 - Basic Reasoningd

t2h1) If P * Q means P is the mother of Q, P - Q means P is
e brother of Q, P + Q means P is the sister of Q, P % Q
means P is the father of Q, then how is ‘L' related to ‘O" in
O%R-M*L?

A) Grandchild
B) Daughter
C) Sister

D) Mother

22) Anita rides her scooter 7 miles South from her office.
She then picks up her friend, turns right and travels for
3 miles. She then takes another right turn and rides
15 miles more to drop her friend. She then turns right and
travels for 11 miles to reach home. In which direction Is

her home from her office?

A) South

B) South-East

C) West

D) North-East
o

23) In this question, out
similar in a certain manne
like the other three. Which o

the rest?

B VR
S

<.

of the four figures, three are
r. However, one figure is NOT
f the figures is different from

A) A
B) B
c)c
D) D

s house, takes his bicycle and

t. He then turns left and cycles a
ycles another

w from his

24) Ajay starts from hi
cycles 2 kilometres Wes
further 3 kilometres. He turns left againand ¢
4 kilometres. In which direction is Ajay no

house?

A) North-West ~
B) North-East
C) South-West
D) South-East

25) What number should come next In this sorles?

85,10,75, 14,

A) 16
B) 66 ~
C) 20
D) 22

e ——————————————— R i

:?3) What number should come next in this sorion?
10, 11, 24, 75,

A) 304
B) 121
C) 192
D) 100

xt Ih tl';ls éerles?

27) What number should come ne

2,3,6,7, 10, 11, 14, 16, 18, 18,22, _

A) 12
B) 13
€) 15

023

! . :
the son of Rupa's mother-in-law’s only son

28) Rajan |
Rishi. How is Rishi related to Rajan?

A) Brother
B) Son

C) Uncle
D) Father

29) Which of the figures glven in the answer figures will
complete the figural series glven in the problem figures?

Answer Figures

IR & X

A b ( 0

XK %

A) A
B)B

-3

__©)c

D)D
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g o1 of the four sugcessive odd numbars ':

1) 1he ?\fmum be the value of the smallest of thes
whe

MR

““mmm‘

0 Al

0) ¥

o) e
20% Inc ol
reoelves fease In his salary. If his new
W) A l{;"? 24,000/~ then his old salary was
”lﬂl'y

et e et

o anghhof 700 18 18 m and its breadth Is double
7 by, I the are& of four walls of the room is 250 sq.m,
fts he!d { the 100M Is:

|
proadth ©

el
B)om
cytom
p)1om

”‘;;;i‘co of an article Increases by 49% and the sale

I
011‘ )mnt arlicle decreases by 21%, then what s the
approximate effect on collection?

A) 15% decrease
B) 18% increase
() 21% decrease
D) 28% Increase

5) The average welight of eight boxes is Increased by
25 kg when some goods are added to one of the boxes.
The weight of goods added to this box is

A 16 Kg
B)10Kg
- 0)20Kg
D)NOT determinable

1h°) Dlullna a telephone number, an old person forgets last
d rée digits, Remembering only that these digits are
erent, he dialeq at random. What is the chance that the

Number dialed |s CORRECT?

1

A) —

1000

B) L
720
c) >
70
1
D) —
840

—

17) 1 30% of A = 0.25 of B = 1/5" part of C, then

A:B:C=

A)10:12:15
B)10:13:17
C)10:12:13
DY40 : 4217

18) If a student had five hours of homework and has
workéd forlthree and a half hours, what part of his

homework is yet to be done?

A) 1/3 part
B) 2/3 part
£) 3/10 part
D) 2/5 part

19) If P and Q together can complete a job in 3 days while
P alone can do the same in 12 days, then how many days

would be required by Q to do the job alone?

A) 3 days
B) 4 days
C) 6 days
D) 12 days

20) Sum of the ages of father and son is 74. After 8 years
father will be twice as old as son. The present age
(in years) of the father is

A) 57
_B) 54
C) 52
D) 42
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Section 1 - Basic

7 DA Bange

"eSpectivgy can do a piece of work in 36, 54 and 72 days
chple:'i- They started the work but A left 8 days before

completion ?‘n of the work while B left 12 days before the

- The number of days for which C worked is

A) 4

B) 8

C) 12

D) 24

<

\vf—‘-’———_—*

2

1%':'23(5' gets 389, of the maximurm marks and fails by

b kg deh|Ie another boy gets 44% qf'the maximum

oy nd gets 8 marks more than the minimum required
s. What are the marks required to pass the exam?

A) 40%
B) 41%
C) 42%
D) 39%

students, 70 passed in Mathematics,
ics and 30 passed.in both. What is the
selected at random from the
bject?

3) In a class of 125
55 passed in Statist
probability that a student
class has passed in only one su

13
A) =
25

3

B) —
25

C P
) 25

D) 8
25

4) A card is drawn from a pack of 100 cards numbered
1 to 100. What is the probability that a square number is

drawn?

L) = >
\wng VN 0.

=
[y
o

Mathematics

jvided bY 12. 15, 20 or ‘

per which when d :
case IS

The least num? :
21 |eaves 3 remainder of 4in each

A) 536
B) 544
C) 224
D) 504
-onds is 32 years- One
e of a group of frien op How many

e the ro A
25 years l°'“ed.lf megsum of their ages

6) The average ag

more friend of age
friends are there in the group now

is 249 years?

A) 5

B) 6

C)8

D)9 |
f of 10ft in length. 8 ftin I

%:‘Z:.ﬂ% zf‘tni(; tr?e(?grr?'tois(:o abéosa:?nted. How much will it

cost at Z 5 per square ft?

A) 1,600

B) ¥ 2,000

C)% 2,200

D) % 2,400

each of the numbers ;
ers will be in the ratio

g) Whichrn'umber must be added to
7 apd 13 so.that the resultant numb

2:38
A
B)12
C)3
D)5

other was 3 times as old as :

9) 5 years ago, Bharti's m
Il be twice as old as Bharti.

Bharti. After 6 years she wi
Present age (in years) of Bharti is

A) 43
B) 40
C) 38
D) 16

10) A cuboid whose length is equal to its width has 2
volume of 24 cubic feet. If the height of the cuboidis
1.5 feet, then what is the length of the cuboid?

A) 4 feet

B) 5 feet

C) 6 feet ~

D)8




